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£ 1s any function
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If [x] represent greatest integer < x and [ot, B] 1s the set of all real values of x for which
| 3+x+4/3-x
Jlx]+2
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[x] ©3& x 808 89S 5 KOR YFrpo¥swn &8%%1‘): W T°RD

Booso AGDSHFogiatn eod x Bk, @@gs Dende KW [a, B] eond, ehyd:

Fa+1)+52B)= é
Options : Q,v.

36
5
2.
12
=
, |

Question Number : 3 Question Id : 7512364963 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia

—



If o and P are the least positive integers such that for all n € N. n® + om is divisible by
3 and n° — Pn is divisible by 6. then o + B =
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If |(n+1)°  (n+2)° (n+3)‘dﬁﬂd -2 3 -5/=2A+1 thenx=
(n+2)° (n+3) (;K 3 x 3
n’ (n+1)° (M+2)2 i 7
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If M and N are square matrices of order 3. then which one of the following statements is
not true?

M 508050 N e Sods S558 S8 Sr@eond, @aéﬁwmﬁ* B850 TIBE?

Options :

For all symmetric matrices M and N. MN &?’15 skew symmetric
o) T§5 Smpses Msosn Nos, Mty NMeda 5g ogsse

: O

NTMN is symmetric or skew symme cording as M is symmetric or skew symmetric

Me3d Fgssn So 3§ avgzé S o) 08800 N'MNedd 3ssn Sz
5§ FRSSTS08.
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For all symmetric matrices M and N. matrix MN 1s symmetric

o) LS Sm@8e M %0000 Nog, MN od Sr@s 5550,
B

For any two matrices M and N. Adj (MN) and Adj (NM) need not be equal
ST Body Sr@8en M oo N o, Adj (MN) 5ocso Adj (NM) e $508800
5735880 B,
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If the system of homogeneous equations
tx+(+1Dy+(-1)z=0

t+D)x+ty+(+2)z=0

(1—1)x+{@+2)y+z=

in x.y. = has a non-trivial solution. then 7 1s a root of the equation

Xy, 266’
tx+(+1D)y+(-1)z=0
t+Dx+ty+(t+2)z=

—-Dx+(+2)y+1z=003 30578 S8 SIISEY $HBEE PSS 408, 1 Soreom
EOHS Bao880

Options :

32 4t +1=0 ,@

21> —3t+1=0

28 +3t+1=0

3P +4t+1=0 &(O
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The locus of a point on the Argand plane represented by the complex number =, when
L:—1+f

- Re[:-lﬂ)
z+1-i z+1-i

Rc(:—1+f)
-+1-i

srdoded Dok Gwl, Dodddo
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A straight line that does not contain the point (-1 + 7)
(—1 +i) @3 DooPH 00 God a8 JEYoY

A circle that doesnot contain the point (-1 + i)
(-1 +i) &3 DoBoHo EON 0B wE DFSw0

A parabola that doesnot contain the point (-1 +7)
(-1 + i) 93 DoBHS> £OA S008I e.€ DT 5005050

A hyperbola that doesnot contain the point (-1 + 7)
(=1 +1) &3 DoLHS O God 2.8 @@é@é@@@
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The sum of the products of the non-conjugéfots of :‘A taken two at a time 1s

\
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Options : %
2 X
1.
0
2.
-1
3.
-2
4.

Question Number : 9 Question Id : 7512364969 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia

—



If z=cosa+isma: 0<a<%. then

:=cosa+fsi11a:0«:a<% DONS, =
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8 99
" are the roots of the equation ¥’ — 1=0. then ) (“)r) B

r=1
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If o,. O, are the roots of x> + ax + 1 =0 and o,. O, are the roots of x> + bx + 1 = 0. then

(@, +0y) (0, + o) (o + ) (0, +0) = ,\0)

N

C+ar+1 =Ocﬁw§b SoTreren O, O, &0 0850 ‘?fk+ 1 =0°3“5?_r Soororen 0. 0, &0
wowd, (o, +0o,) (o, + 0,) (o, +at,) (o, + {x@

Options : éo
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Consider the curves given by the following quadratic functions.

& §08 $¢ (Hdre TT 00SES SFTod SosvoTTo

fi (x)=5x"+2x+1
+f2(.r) =5x° +6x+1
'f3(x)=x2 ~T7x+6

fu(x)=64x +48x+9

IfA.A,. A;and A, denote the lengths of the mntercepts on the X-axis made by the above
curves respectively. then which of the following is true?

O
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The condition to be satisfied in order that one root of ¥° + bx> + cx + d =0 is the sum of the
other two roofs. 1s

Y4+l +ex+d=0 dﬂ}}é&_ a8 Joredw, WAOS Sod drore Iwdo 5PITUS é&g‘g

BP0 Q0300 &N

Options :

3d°+ b’ =bc
113

6d + b> = 2bc
2

8d + b’ = 4bc
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8d + b = 4bc Q/
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If each root of the equation 2x° —38x+ b=01s reduced by one. then, in the transformed
equation thus formed. the t ntaining x* and the constant term are vanishing. The
roots of the original equation are

27 +ax’ — 8x + b =0 &3 HoECsn D), K8 Srerd) w88 BE ShoSdo o
8By BO5YS BAEGOS” X752 BOAS HEsBw DO P BBS® S, &S8O
S0E), DT

Options :

13,2

11247

2.

collegedunia

—



1,1,~0

13832

Question Number : 15 Question Id : 7512364975 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of different permutations of letters that can be formed by taking 4 letters at a
time from the letters of the word ‘REPETITION" is

‘REPETITION’ &3 $&06°Q eivre $08 40ivos w830 88 obr 8o 29S)

PaEoTO Do
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. 1398 @$
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If n = (210)* (360) (143). then the total number of non trivial factors of » is

n= (210)'3 (360) (143) ®ond, n G308, é‘éﬁéd ©Q) 578 08dnY Jopg
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If p is an integral multiple of 4 lying in between the coefficients of x* and x in the expansion

8
2 ‘
of (I‘ + —) . then the number of such values of p 1s
x
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If the ratio of the 7* term from the beginning to the 7* term from the end in the expansion

3 g -
0f[ﬁ+3—ﬁ~J 1s —.thenn=
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4 2
Sx“+2 . x ;
3x"+5x° + :AT+B+C1+D+ Er+F? D omeee

(P+1) (P+2) T2 XL (24)

If

3x*+5x°+2 Ax+B Cx+D Ex+F
= + + -

2 2 5 wond, A+2B+D+4E=
(I2+l) (x3+2) xX“+2 x*+1 (x3+1)“
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If sin 26 and cos 20 are solutions of x> + bx — ¢ = 0. then

sin 20 508050 €05 20 e X +bx—c= 0 B08), eﬁ*ééw

N
Options : Q
‘v

B> +2c+1=0

> Q/v.
B —2c+1=0 Co

5 A
B—2c-1=0
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IfcotO+tan O =3.and 1 —cos?0 — o cosO = 0. then

cotO+tan =3 56095 1 —c0s?0 — o cosO = 0 wond. RO
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60 (9—o?)=1
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6o (o —9)=1

2.

90 (6 — ) =1
C

90" (0" —6) =1
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If sin x + sin y = p. cos x + cos y = q. then sec(x +y) =

Sl X +SIN y = p, COS X + COS ¥y = ¢. @008 sec(x + 1*@

N

&q,Q
2pq Q/
O

§
1, @v.

pi+q’ &

< - A

o
2pq
2 2
Jp +q
=
2+
P +q
4,
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The number of solutions of the equation
sin A — 5 sin2A + sin3A = cosA — 5 cos2A + cos3A 1 (0. m) 18

(0. ) &° sm A—5 sm2A + sin3A = cosA — 5 052A + C0S3A Bw§), FEdSe Dopg
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Ifx,. x,. x, are the real roots of the eunIi ¥ -y’ tanB+xtan’®+tan@=0and 0 < 0 < % ;

T .
then the value of Tan™ g % + Tan™! x;at9=—1s

X, X, 840 X —x" tan® + x tan’0 + tand = 0 &3 SEd=0 B, TS Sorreren Hodasw

0<0< 7/ wowd, 0= 5¢ Tan x, + Tan! x, + Tan™ x,Boo%, Dexd
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If y=log, tan[£+£)‘ then tanh(l) =
g 2 2

- ., I— .
y=log, tan( T 2) wond, ©Bye: tanh[—)_ ,S)

Dptiqns s ‘»Q
cor A

fan x
coth x «

X
tan —
2
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In a AABC. if a + 3b = 3c. then sin%

AABC &°, a + 3b =3¢ @oxs8, @IV sin%_—_

Options :
a |3
2 \be
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Let one of the sides of a triangle be 17 cm and the sum of all the sides of the triangle be
40 cm. If the sum of two adjacent sides 1s 35 cm. then the area (in sq. cms) of the
triangle 1s

08 (Bhadn BwE w8 ghadn 17 Do, Hocn Bihaldn SnE o) hEre Iogo
40 0.0, ©HB0wTo. Bod ©dd) e Jogo 35 0.0, vowd, & BhHudo ),
STogdn ($5.20.0. o)
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& » B

If the perimeter of the triangle ABC 1s 50 cm. t@ cos” 3 HeTes =

| g B
ABC gzhadn Gws) 508 50 %o.0. @:o@@éjéa b C0527+c cos-"z =

- S
5

25 A
2.

30
.

35
4.
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If P, Q. R and S are the points with position vectors 7 + 7 — k.27 — 7 + 3k.27 — 3k and

37 =27 +F respectively. then the angle between .ﬁand RS is

T+7—Fk.27 -7 +3k.27 - 3k %8050 37 —27 +k e $&dm P,Q.R. S &3 dode
Do), TS HBTwoS, PQ %0805» RS o 065y S'evo

Opti(i;nsz
2
2, N
1y
) A
3. ()Q/
5 >
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If the plane passing through the points T4 j +k.2i —k and the origin meets the line

passing through the points 7 +37 —2F and 7 — 7 + 3k at the point A. then A =

T+7+k.27 -k o3 DohoHeo 8050 Saredohs Hom & dvo, T+37 -2k

500050 7T +3F DodoPo fom ik $6¢8po Awd Do 5§ 80, edyds A=
Options :
1

3(9?+ 87 + 7k )
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%(11?+9]_'+ 8k |

2.
A o or
ﬁ(“" —97 +8k)
3.
| TP
ﬁ(_“’ +97 —8k)
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If the vector 197 + 227 + 5k bisects an angle betwee%h,%ctors @ and 67 + 87 . then
the unit vector in the direction of @ is (],

A

197 +227 + 5k &3 58¢ @ $56050 67 + 8@&&: B0 Ko 0.8 Beoed) BBBP LS

3h, T BIS HrIS HOBF é
Options : v
p %(41'_+3I?) g@

Y &
%(25‘+27+1?)
4
| E——
g(r +2j +2])
3.
1 Gt S T
5(2: +2j —k)
4
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-

Let p=7 +2j—k.g=27 —j+Fk. If @and b are two vectors such that p=a-2b

g = 2a +b . then the angle between @ and b is

500080 b e p=a-2b, g=2a+b

p:T+27_E_§=2;T—f+]‘T oo, a
eogrtn &d) Bodk S&Fwona, @ %0050 b © 2Py o 820

Options :

Cos™ [;}
24221

, ) q
3 )

2. &W
Cos™ ] CJQ/

i 143 @

A &
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—land axb =7 —k.then b =

S

=7 4 4k, T

o

If

a=1+]+k.a-b=1508050 axb=7-k ©on8, edvk b =
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The distance of the origin from the plane 7 (31T +4] — 121?) =7 measured parallel to the

—_— —_— ol e

]jne-r_-z(r‘ +27 +3k ) +1(67 +27 +3k). is q
Q’\
F=(T 427 +3% ) +(67 +27 +3%) o3 3p& 2&5w EODSHY, Saredoddd

$o8 7. (37 +47 —12F) =7 &3 S8 fo &5
Options : §0
- v

s 2

e %
» A
10
2.
g
10
=
3
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If a, B, yare the mean deviations about the mean. median and mode of the data 1. 2. 2. 3.
3. 3. 4. 6 respectively. then

o, B, Yeo 38m 1. 2.2, 3, 3, 3.4, 693 Se207°8 Sogigdodion, Sogghghn Sodasw
THoEESne 0 HFg JoToons, BHyd

Options :
oa<P<y
1.
a=pg=y
Z.

a+p=9

O
s N
B<a<y Q/‘],Q
4' O

Question Number : 36 Question Id : 7512364996 Questi
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The coefficient of variation @he following data 1s

808 Kgro7R8 AT s

-

N
3
\O

11
& |5 |2 |& |2
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In a town the probability that a sick person may need to b!\%n’tted to an ICU 1s 10%. If

the probability that a person getting admitted to an oes above 5%. then the threat
level 1s raised. The mimimum percentage of the 1igtion of the town that should fall
sick in order to raise the threat level 1s :K

28 HQod® w8 &' ICU &° 5&&"3}1% A
5% &0 o8, sosYS Fon 28
50N L 2T 5 TS0 @

3538 10%. 2.8 $5g8 ICU &* =0 Sogrdgd
. SO ¥S %w RORET RS, @mﬁ‘ﬁg;ﬁwéﬂw

(=%

Options : &%

15
1
30
D
50
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A bag contains 6 red. 2 white and 8 blue balls. Three balls are drawn at random from the
bag. Match the items of List - I with those items of List - II.

28 Bo0S® 6EQ, 2B S8 8 VT wodhen Gamow. & $od od SrER)somr
DS oot E3H. rder-1 S woTod rder -1l S voTed 2EISSN.

List-1 List-11
he -1 rde -11
4
A) Probability that none of the balls 1s white I) =0

d 208 BOIQ SEFITIE Dogrdgd

6
B) Probability of getting 2 white and 1 blue ball Q 1) =
N 35
2 8o D8N wf OB 208 TETIE éo@"i’@
13
C) Probability of getting 2 blue and 1 white b¢ I1I) 0
2 QOB 0dosw 8 SO 20& u‘f&&o&“égé
1
D) Probability of getting 1 red. 1 \% 1d 1 blue ball IV) 10
w8 B, 2.8 B maoﬁ;j@adum 208 THTIE BourHsd
2
W 5

The correct match 1s / 585308 £°6

Options :

B

A C D
I I | A\Y I
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A B C
I IV \% I

O
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A boy speaks truth in 3 out of 5 times. If he throws a die and tells that the number appeared
on it 1s five. then the probability that it is actually five. is

a8 wrendd 5 FIS” 3 P J8gdn Srirderd. o888 FAEH 00N, TWD IS
Sopg o e DYDY, QBT B8 28 5°I3FI8 Ko DogrHgs

T D
| Q
1 «‘b

g - &
| O
3 N
30

3 &@
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A fair coin 1s tossed a fixed number of times. If the probability of getting five heads 1s
equal to that of getting seven heads, then the probability of getting four heads 1s

SRB5008Q &8 BSwd 2.8 ?{gd QOPFE VATIII) T8 QD EIE. BIVE 2 7B e
oIR8 o DogrHgd, 6o z‘E‘a’D&m oITN8 Ko éowﬂsﬁgés’\: éa’mﬁ;_:é. TR0 25“;’)3&&13
OGNS Ko éua}’é’:gé
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Single Line Question Option : No Option Orientation : Vertical

If a Poisson variate X satisfies P (X =2) = P(X@ then P (X=5)=

A

X o3 ¥ Fovas dwod P(X=2)=P 3)Q &S0, oy P(X=5)=

S
2

40¢’
1. &
- 81
40¢°
2.
243
40¢°
o
243
40¢°
4,

Question Number : 42 Question Id : 7512365002 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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The ends of a rod of length / moves on two mutually perpendicular lines. The locus of the
point on the rod which divides it in the ratio 1:2 1s

Sot HEQBo wowor &F) S8Etpe | FEY fo o8 éég BE), TIen Shends tamaw.
s 58D Gobwr, T DEHDH 1:2 IH8S® oD HotdY BwE), Dodiddo

Options :

y 3x° +4y° = 21

| 9 +167= 51°
4> +3y* = 61"

5.

9x% + 36y = 4I° ’9

4.

Single Line Question Option : No Option Orientation : Vertical

&
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Question Number : 43 Question Id : 7512365003 Question Typt&)ptinn Shuffling : Yes Display Question Number : Yes
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The point P (1. 4) occupies the positions A. B and C respectively after undergoing the
following three transformations successively.

& (Bod BODS HOFYHe SHHT 2008 86> P (1.4) 3 DohHY DB Foreo SEHBM
A, B $5805% C.

a) Reflection about the line y=x
P=x0p 0d HoSGS50

b) Translation through a distance of 1 unit along the positive direction of X-axis
X289 &3 6¢ Jo2b 1 oAl &rdo 308y JHBHES

¢) Rotation of the line OB through an angle I about the origin in the anti-clockwise

direction

T

1 Sf=TeTabletey éd@’ég}g@né& &S00
Then the coordinates of C are &

v C Bwg), A8rds e Q/

1. (ﬁzﬁ) Q/?'é
Z.

(2v2.3v2) A

(&%

3.

Sorodothy S)xy SS&IS

jcx

Question Number : 44 Question Id : 7512365004 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If the normal drawn from the origin to the straight line 2x + 7y + 6 = 0 makes an angle 6
with the positive X-axis. then 6 =

2x + 7y + 6 =035¢8p% SoroDokhy) Sood DS vhoowo, X- 08 FI648° 0500
&%, 0=

Question Number : 45 Question Id : 7512365005 Qu u%pe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option {)rientati® ical

(x,.»,) 1s the point of concurren a family of lines. If the algebraic sum of the lengths of
the perpendiculars drawn to eﬂ& es from (2. 0). (0. 2) and (1. 1) 1s zero, then (x,. y,) =

(x;. ) 038 o8 H6¢ Ty Sodwowo BwE), ©HBE Docw. (2. 0). (0. 2) Sodosw (1. 1)
o3 Dodoho od & Tposh HDS vowre PEHo Do Jndo ) wowd, wdyd
k)=

Options :

(1. 1)

1

(0.2)
.

(1. 1)
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(1.2)

Question Number : 46 Question Id : 7512365006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the line 3x + 4y + A = 0 divides the distance between the lines 3x + 4y + 5 =0 and
3x + 4y — 5 =0 1n the ratio of 3:7, then a value of A 1s

3x+4y+5=050050 3x+4y-5=0e3 po &g &rovQ), 3x+4y+A =03 Op
3.7 48" PR, A Bwg), w8 Dend
Options :
-2
1.

N

Question Number : 47 Question Id : 75123 %estion Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori tion : Vertical

Assertion (A) : The lines 2x* + 5xy + 2y” = 0 and x — 2y + 1 = 0 form a right angled

triangle.
Reason (R) :  The equation ax” + 2hxy + by* = 0 represents a pair of perpendicular
linesif a+b=0

A ESco (A): 27"+ 5xy+ 27 =0508050 x—2y+ 1 =0 &3 Bpen o8 oo RSy
bd&t‘b@:m.
s8m0 (R): a+b=0eo08, ax’ + 2hxy + by’ = 0 o3 $Do¥8mo 2§ wow Bgr

CRITY) DR 08.

Then. choose the correct answer

®oW8, SV JSIrT T ) I8N Sodw
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Options :

(A) 1s false. (R) 1s true
(A) 38550, (R) Sdgdow.

(A) 1s true. (R) 1s false
(A) 855, (R) ed8g50.
2.

(A) 1s true. (R) 1s true. but R 1s not the correct explanation to (A)

(A) d8gdoo, (R) 885w 5°Q (A) 8 (R) 50508 Ddde0 578
3.

(A) 1s true. (R) 1s true and (R) 1s the correct explalh% to (A)
(A) S&gdo, (R) S&gdw odasn (A)§ (R) éa% QReD.

4. &

Question Number : 48 Question Id : 7512365008 Question Ty

@Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Verti

The combined equation of the diag

xy+6y—4x—24=0 and xj-*+6x®

xy+6y—4x—-24=0 &B@)&%ﬁc—é{l'—ﬂl:ogﬁ BIFTP SRmEB JHT S0
G008, ETO HooS0E Do

of the square formed by the pairs of lines
24=01s

Options :

P4 2e =10

-V +22+2y=0

2.
y. 2
x—y +x+y=0
3.
X+ -2 +x—y=0
4.
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Question Number : 49 Question Id : 7512365009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the angle between a pair of tangents drawn from a point P to the circle

P+ —4x+2y+3=0is ’% then. the locus of P is

Ped o Doy S0 ¥ +)" —4x +2y +3 =0 o3 5508 A0S 88 Sgroioryo
S85 00 T, wond, P G, DothdEa

Options :

P+ —2x+2y+3=0

1.
X+ - 8x+4y+2=0

z O
X+ +4x+2y+1=0 ‘»Q
Py A +2p+1=0 é()

4,

Question Number : 50 Question Id : 7512365010 Q@! Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orie%iun : Vertical

If a variable circle S = 0 touchesthe line y = x and passes through the point (0. 0). then the

fixed point that lies on the common chord of the circles x* + y* + 6x + 8y — 7 =0 and
S=01s

S=0e3 $6580 y=x B S8z, (0. 0) Dok Howdd, x¥*+)*+6x+8y—-7=0
85w S =0 JHeo GG &g @ SO% ':ngd Do)

Options :

33)
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Question Number : 51 Question Id : 7512365011 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two chords of the circle x* +y* — 2gv — 2l + &> + I’ 1‘9— 0 are passing through the
point (g. i + ¢) and the line y = x bisects these two . Then

X+y —2ex-2hy+ g +h —c*=0e3 ;335‘%@;&5 ok ergen (g, h+c) o3 Dot
ol Ferown B Y=x eI Tp & o @n} DEPOES B08. SFOTeS

Options :
4g” — A" — 8gh + 4hc — 4gc - g

1.

4g” + 4" — 8gh + 4hc — 4gc - <0
2.

4o + 4h™ + 8gh + 4hc +4gc + " =0
3,

4g” + 4> — 8gh + 4hc —4gc — "> 0
4

Question Number : 52 Question Id : 7512365012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The centre of the circle passing through the pomt (1. 1) and orthogonal to the circles
X+ +3x—5p+7=0andx’ +1*—6x— 10y +9=01s

(1, 1) H0&o Hom dér, X+ +3x—5y+7=050050 x> +1° —6x— 10y +9=0
HTod voad)Blo v SyFhn BnE), Sowo

Options :

(Lo 7
52 52

S
’\-h"_.
o | \O
I
|
2 | D
R

(58 <&

Question Number : 53 Question Id : 7512365013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

N

The length of the common chord of the circles x* + 31 — 6x —4y + 9 =0 and
r+y —8x—6y+23=0is

X +y —6x—4y+9=0%500%0 x> +1* —8x— 6y +23 =0 &3 HETo b =g PEY

Options :

V2
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Question Number : 54 Question Id : 7512365014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If y = mx + 1 is a tangent to the parabola y* = 4x. then m =

.1'2 =4x Hord0csrd8 y=mx+ 1 @36 o.§ égdg’ézp SO0 B, VIV M=

Options :

~1

Question Number : 55 Question Id : 75123 ﬁ%estion Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori tion : Vertical

If the line segment joining the vertex of the parabola y* = 4ax and a point on the parabola.
makes an angle 6 with the positive X-axis. then the length of that line segment is

¥ = dax Ho°500%0 BuE) FEH0K H0c5H HTScho fo uf DodHl 8D
Sprpodo, X-o8d &8 8¥8® T Foo 0 ®ond, & Sprpodo PEY

Options :
4asm6
cos>0
i,
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‘4a-c059
sin” 0

14(1 sin® - cos’ 0

- « X
4acosO-sm-06

Question Number : 56 Question Id : 7512365016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The mmimum length of the mtercept between the coordinate axes made by a tangent of
N o
the ellipse é - -1? =115 Q’\q
y A

"'a+%=1 B8, Sy Bk, 2.8 S5, Fo 858 h voddpoto §R D6

Options : @

) 10 Q/v
17 &(0

3
)

8
3.

15

2
4

Question Number : 57 Question Id : 7512365017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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P

An ellipse Iﬁ, - ;}2 =1 (a > b) 1s inscribed in a rectangle of dimensions 2a and 2b
2

respectively. If the angle between the diagonals of the rectangle is Tan™ (4J§ ) . then the

eccentricity of that ellipse 1s

2
M

22 538050 2ben Fodeom §98 uf 88 GBS’ —+2 5
b ot a- =

©088PonB0b. & BY SEEH0 B¥, sge HSgE0o Tan™ (443) vand, & 6550

=1 (a>b) &3 8 83 Sydo

g, ¢ 8) o8

Options :

A,
V2

" -
&
N/
@O&
»

S&

Question Number : 58 Question Id : 7512365018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

IfL, =0and L, =0 are the asymptotes of the hyperbola Ox* —4y* +36x + 8y —4=0, then

the product of the perpendicular distances from the point (1. 1) to the lines L, = 0 and
L,=0i1s

9’ — 47 +36x + 8y —4 =0 &3 wsSorSochHo Bk, vsed HEBpen L, =050805w L,=0
o8, (1. 1) o3 Dot Sood L, =0:50w L, =03peih fo vondroe ©Q0
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Options :

32

162
y P ,9

Question Number : 59 Question Id : 7512365019 Question Type : MCQ D[Whufﬂing : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical «

The volume of the tetrahedron (in cubic 11111'&16(1 by the plane 2x +y+ =K and the

Al
co-ordinate planes 1s 2:’ .then K:V= é
2r +y+z=K &3 dodwn é}@cﬁyéé Sereosd Z.‘Jcﬁﬁ WGP Bng), HSS8Sr00

V3
3

(P08 cSordbe®) ©on8, odyd KiV=

Options :
12

1:6

24
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Question Number : 60 Question Id : 7512365020 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The direction ratios of a bisector of the angle between two lines whose direction ratios
are 1. 1. 2 and /3.—/3.0 are

1.1, 255005 /3,—/3.0 e 68 dydyen Ko Bodk B6¢8pe Buk), o8 S HHOPOES
Op BwE) & Ay

Options :

1sB1-B 2

) 1-+/18.1++/18.2 ’9
+ Q
{=xf3.1~+/3.~3 Vv

A
(% P ()%

Question Number : 61 Question Id : 7512365021 }*pe MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatio rtn:a

Let P (1.-2.5) be the foot o rpendicular drawn from the origin to the plane ©t, and
the same P be the foot of the pf:1 endicular from (1. 2. -1) to the plane wt,. Then the acute

angle between the planes m, and , 1s

DroDoldy $ood T, A8 ADS woadrdo P (1.-2.5) 5080w (1.2.-1) Doy Sood
T, 8er08 AOS wonddo 68 Dok Pesiomro. ey T, 50805 T,dwre & Ko
000800

Options :

Cos™

(&)
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Cos™}

5 340

Cos™ =
370

=

Cos™ 3
350

4

Question Number : 62 Question Id : 7512365022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

x—0 X

 J¥2+100-10 N
lim 2 - Q
‘v

Options :

A
: &
! §C)

Question Number : 63 Question Id : 7512365023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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2 -
Let fand g be real-valued functions. Ifhn% 2/ (%) g(:):% lm% f(x)=1 and
(f(x)+7)2
_ sin(ax). 0<y<—
limg(x)=e . then h(x)=- g
x—0 . T T
cos(2ax), —<x<—
10 5

J S0Bosn gew 85 Swreg [WRalrosisoonro.

lml2f(x)—g(x) - l_in%f(x)zl S08a50 'linl;]g(x)=a ©wond

X—> E.
" (f)+7s
sin(exx). 0<x<Z
h(x)=+ 10 438
cos(2ax). P oewnt

P
Options : W

f tr = ool é
’COII 1Muous a .T—B o1y éo

x=£ 3§ SrED @-aqﬂm v.

10
. &
- - 14D
dlSCOIltﬂluOllS on [0?}&

' T - <
[Og] @ QW00

: _ T
discontinuous at x =—

T
X=— 38 DWW

1 E
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. T
continuous on | 0. =

A

OJT =5 s ;\{Ju'
? sz-*@% )0

-

Question Number : 64 Question Id : 7512365024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Question Number : 65 Question Id : 7512365025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

. cosx sin ¥ dy
If y " =x"",then —=
dx

-

el
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Options :

y(xsinxlog y +sin y)
x(cosx—ylogxcosy)

y IS
v(xsinxlogx—siny)
x(cosx+ ylogxcos y)
2
y(siny—xlogy)
x(x—ycosy(logx))
=
D
y(sin y+xlogv) ‘»Q
x(x+ycosy(logx)) &
‘*' ¥
Question Number : 66 Question Id : 7512365026 Questi : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientati%

Ifm \/j—c I]A%

- d*y
1/1‘+1* X—y=C ®008, SRS 5=

Options :

i[ﬂf
v\ dx
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4y ;
2,
| 2
V dy
"\ dx
3
4y’
4.

Question Number : 67 Question Id : 7512365027 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical q

The coordinates of a point on the curve x =a (6 + é@ v =a (1 —cos 0) where the

o T s ;
tangent 1s inclined at an angle 1 to the posmvzﬁ\us. are
x=a(@+sinB), v=a(l-cos0) «3 a8 DotoP S& ADS NGdp X8 &S

648" % S0 B, & Doy B S5en

Options : &

(45
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Question Number : 68 Question Id : 7512365028 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Electric current 1s measured by tangent galvonometer. the current being proportional to
the tangent of the angle 6 of deflection. If the deflection 1s read as 45° and an error of 1%

1s made in reading it. then the percentage error in the current 1s

EroROE MOTL68 DS PHTT ) Faoiand. Ags Pairhin, ©@hlgss 0o 05308,
LroBo S eSS ¢otnod. edIET ) 45°m HodoBEoS® 1% Fidn &ol, wdyi
AGS RTTINS” FA TSI

&
| >
&

N[

.JT
4
4

Question Number : 69 Question Id : 7512365029 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the tangent drawn at a point P on the curve y = 3x* — 5x + 7 is parallel to its chord
joining the points (1. y,) and (2. y,) on it. then the x-coordinate of the point P 1s

y=3"—5x+ 75550 o8 Do PSE ARS $)88p, & SES0 (1. y,) S0 (2,,)
DoHHoto OB g dSroddor ¢ol, & Do) P BwE), x-VErHESw
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1.
3
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2.
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4

=,
4
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Question Number : 70 Question Id : 7512365030 Question Type : MCQ Option Sh : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical '

If the minimum value of f (x) = 2v° + ox + 8 is kl@me as the maximum value of

g(x) =-3x> —4x + o, then o = &

f(x)=2x*+ ax + 8&Ba0), EI% Dewd, g(x) =@$f4x+ 0o B0, KR DeBE HBrSB,
eSydo o =
Options : @E
150

27 &(0

160
27
2.
170
27
G
181
27
4.
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Question Number : 71 Question Id : 7512365031 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

J‘ dx B
4smx+3cosx

Options :

14
%log sec[x—Tan 1:) +e
D

-

N
LT P S
D
] §0
2 log cosec(r —Tan™ i) + —Tan™ i) +c

5 :&9 3

Question Number : 72 Question Id : 7512365032 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

J2dx
COS 1\/5111 ‘?*r

-

ilmg sec[ x—Tan™

If )+c. then f(x) =

J_(h*
COS x+/sin ‘?r

Options :

‘N Secy

)+ w08, edyd f(x)=

gcollegeduniaa
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.\(tan X

2.

'2 tan x
=

'Zﬁ\/tanx
4.

Question Number : 73 Question Id : 7512365033 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

| 2
J‘ex sec” x+tanx—cotx

_ =
= 9

Options : &
e" (cosecx+cotx)+c :Q/

1- R
: 2
[ sec? x+tanx Q,

e _ +c
Sin x %
2 &
| 2
« 1+tan” x
e , +c
sin x
3
- |
e’ (cosecx+secxy)+c
4

Question Number : 74 Question Id : 7512365034 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

3smx+5cosx+4
ax =

SINX+COSX+2
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Options :

log(sh1x+cosx+2)+43‘—4Ta11‘1(1+ tan%)H*

1
( &
1+tall?
log(sinx +cosx+2)+4x—4v2 Tan™ = & 4e
\ /
2.
( x )
l+t3ﬂ§
410g(5i11.T+COS.Y+2)+.T—4\/§Tall_l B +c
i

Question Number : 75 Question Id : 7512365035 (mniType : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientati ical

&

b4

g
= COS~ X
I"" dx =

I
0 cos”x+4sin’x

Options :
® 2 r
ARl -
1.
- 2 ”
i W '3
% J
5

—
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e T
12
3
E__E Tan'4
b 3
4

Question Number : 76 Question Id : 7512365036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. n n 1
lm| ——+ +o+t— | =

;
n—e| n~4+1 2°4+n° 2n

O
— O
- Dy

Question Number : 77 Question Id : 7512365037 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The area (1n square units) of the region bounded by the curve y = |sin 2x| and X-axis in
[0. 27t] 1S

[0. 2xt] &° y = [sin 2x| S0 So8csw X-wfood JBFId @oddn Do) ITogo

(S5 Bardts®)
gcollegeduniaa
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1.
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"
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3.

4

4.

Question Number : 78 Question Id : 7512365038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

: 5 P ;
The family of curves represented by the general so}®1 of y =-— contains

Q 2x
. A

y =-é— BwE), P FPEST *’wi’boéé‘%@@ §0£200208° OB
Y

Options :
circles é
REee Q/v.

] 9
ellipses &
5&\5&@_‘:&1}

g
hyperbolas

; 8 VT JOOLTTD
parabolas
LT LOOT0

4.

Question Number : 79 Question Id : 7512365039 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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: . . . dy .
The solution of the differential equation (:r - 2_1-*3 )d_ =y 1S
3

]

d
(x+2)°) 2=y &3 estos $Dssnsn BnE, T3

dx
Options :
x=y+c
1.
X =_1*3 +cy
2.
J! — __-'3 +
o

N
y=x +ex+d Q

. ¥

Question Number : 80 Question Id : 7512365040 Question Typ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Verti

The solution of the differential e@& 9. (4x+ v +1)>. when »(0) =1 is

&

1(0) = 1 ®oxsdyd, i=(4.~c+_1*+1)2 03 wSkod SEdno B0, FES

dx
Options
y=2x" e
1 8
y= 4x—(1+£)
8
2.
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_1'=2tan(2x+%)-4x—l

_1*=2tan[x+—;8-r-)+4x-l

Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 7512365041 Question Type : MCQ Option S@ : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following. W
150 - 11

List-1
A) Michelson-Morley experiment ¢ existence of antimatter
B) Stern-Gerlach experiment The existence of de-Broglie matter waves
C) Davisson-Germer experiment Electrons have spins

D) Anderson discovery of positm@ IV) The non-existence of ether

Bob T REBEISDw. &g
558 -1 55§ - 11

A) FRESS-3rY BAFS0 DG S SBHSES

B) 5-AgE ©AEoiS®

C) BOYS-BES SSriS

D) @odd)e Fore sy o

&-@*h Sog Sore wHVSSBD

™ & &
Qﬁ}@_’;Sm Y& Fodw §OA tolran
$68 BIHPSS0 KoL

S8 2%

The correct match 1s
2008 &80

Options :
A B € D
) N L 1 I
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Question Number : 82 Question Id : 7512365042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider a spongy block of mass “m’ floating on a flowing river. The maximum mass of the

block 1s related to the speed of the river flow (v). acceleratian due to gravity (g) and the
density of the block (p) such thatthem___=kv' g’ p* (ks W@m). The values of x. y and
= should then respectively be

(Mass of the spongy block 1s assumed to vary due to ﬂp{ption of water by it)

m 855072 o Pod B) PITD) S8
RIS IS (V), By c8eamds (g)
(ka8 R80°3) sFrdom JoR0Ho

JenHen @

Qo B0y 55078 A8 $'A b SrHESEY irodwdss)

DJHB. By BwE), 1o (BSgo"3 &

&0y dogs (p) 8 m, =kv g p°
Py X, Y0008 I o8 SBIM GodIORD

Options :

6.3,2

Question Number : 83 Question Id : 7512365043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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A ball 1s thrown vertically upward from the ground at time 7 = 0 s. It passes the top of a
tower at =3 s and 2 s later 1t reaches 1ts maximum height. The height of the tower 1s :

(Letg=10 m/s’)

1=0s50d0 3G o8 2008 grdd Hod D8 IJB2E0H. ©d =3 50" IPSoR PMTR)
8 & $0%S 250 0R & Ihdod. Ipso I& Dend :
(g =10 m/s’r &5 H5050)

Options :

105 m

125 m

85 m

) 65 m @?

Question Number : 84 Question Id : 75123 &Esﬁnn Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori tion : Vertical

Rain is falling vertically with a speed of 30 nv/s. A man rides a bicycle with a speed of 10 mv/s
from east to west direction. At what angle with the vertical. he sees the rain falling.

30 m/s SE&° LAY ™ S0 SHSHB. 10 m/s SE&° o8 Hod% RESD IoS® Erddy
D08 HEHE HIT PaSrdyTd. wdd Jend) ps® 2 Fwos® Sdo HELr) KA.

Options :

11
fan 1[5) towards west

SE5E 3D tan‘l( -3

1.
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tan~" (3) towards west
5658 3% tan (3)

i
fan 1(5) towards east

| 1
$>»%y 3D tan™ (—]
3 3

tan~" (3) towards east
Srday 3 tan (3) q
)

Question Number : 85 Question Id : 7512365045 Question Type : Mc&tinn Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

% the ground with a speed 40 nv/s and at

An archer shoots an arrow from a height 4.2
mtthe horizontal distance ‘R’ covered by the

an angle 30° as shown in the figure. Dete
arrow. when 1t hits the ground. (Let g =$

s%)

P0G Wrad VGO w8 JeosT % $008 4.2 m & S008 o8 o) 40 /s &S
00050 30° 8005 AVOTEENGE FrAA SEIYE KWoSrFoS & ddrodd Srdo
R’ % EDFS08. (g= 10 m/s”m S5 H5050)
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Question Number : 86 Question Id : 7512365046 Question Type : MC }&Shufﬂing : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A bullet enters a wooden block with veloci 's. The bullet travels 1.5 s 1n the block
before its velocity reduces to zero due to nce force which is proportional to square
root of the velocity. The distance t:rav%. the bullet in the wooden block 1s

o8 dorér 120 m/s SK08° §@%é€§ SErSofoFon0d. Eaﬁo&é‘ = SESorer8

eS SrdodSor &) @5‘&&.&)0 S0 drér Jo Prdghodiy S8 b 1.5 s sPeo
RRErBR08. Srir BE), HING' PAErBoNS dordo

Options :

10 m

60 m
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Question Number : 87 Question Id : 7512365047 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A bouncing ball of mass 200 g falls from height of 5 m on to a horizontal ground. After

every impact with the ground the velocity of the ball decreases by [%) times. The total

momentum, the ball imparts on to the ground after 3 impacts is (Let g = 10 m/s%)

200 g &55g072 Ko 2.8 JAD 208 SMm © & Hod §82 Jow HdE0d. Jo 20R X8
SHITSE0 J© 208 KB DB $10d. Sk ePIrere S0°E 008 I FworEain
3ndo B35S0 dend (g= 10 m/s’m B85 50)

Options :
TR IS
1 3)

20

o kg mv/s ()Ql/K
N

- Q?’
0 ke m/s %

2 12 &
21
3 kg m/s

4,

Question Number : 88 Question Id : 7512365048 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A block of mass 100 g is suspended vertically from a massless spring system of spring-
constant A= 1 N/m each. The block 1s hit from above to impart an impulse of 2 Ns. Calculate
the maximum displacement from the equilibrium position of the block

(Let g = 10 m/s”)

100 g @Sgomstio o8 B3, Dyofi BwE), Jorossn k=1Nmmr 088 ES50°8 S
PYof 358 Moz ALYILWYT BT ELRRESH. BI'EISn 2 Ns Senibdlny H30%
P08 FLRAEJB. SPTRE FIS0 Dod B Fok KoL TFIEFOTR) T oT0d.
(g= 10 n/s* ™ BHFS050)

Sm

9m

Question Number : 89 Question Id : 7512365049 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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A metal chain of mass 2 kg and length 90 cm over hangs a table with 60 cm on the table. How
much work needs to be done to put the hanging part of the chain back on the table.

(Let g =10 m/s”)

90 cm © FEYH odcdw 2 kg BSgo3re wf S'rY Moo wo 60 cm dododin
RELDTE. Fordy Tend TR DO DoWFTVE Jod B BooSed Gotnod?
(g=10m/s° > >%od8)

Options :

2]

1017 o
N
1] q,Q

N S
4, é
Question Number : 90 Question Id : 751236505 Q&m Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orier catian : Vertical

A thin circular disc of mass 12 &g and radius 0.5 m rotates with an angular velocity of
100 rad/s. The rotational kinetic energy of the disc is

12 kg o (855078 S00a50 0.5 m Frgrgsnd) deodd Syems s o¢) 100 rad/s 5o
S0 Fhoeren D08, DY) B, e KE2FE Jeod

Options :

12.2kJ

55K]

2.
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Question Number : 91 Question Id : 7512365051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The distance between Sun and Earth is 1.6 » 10" m and the radius of Earth is 6.4 » 10°m
The ratio of the angular momentum of Earth around the Sun to the angular momentum
around its own axis is approximately : (Assume Earth as a solid sphere with uniform mass

density and rotates around the Sun 1n a circular path)

Qoedogdo $0dcin Frdve Jody Srddw 1.6 * 10" m So8cs0 o B0, "ﬂs#ém&
6.4 x 10°m 55D Syrs Sod Sebaso @Sgnsn 5p8d) Suoh o Bdom wro08

fo Fhoh Eigamre Q8 TTIm
FoBS HOA Jrdogl Wby HEE Y Srfods” (&

&

Options :

2.0 x 10

S

&

(o a8

114

F50 Ho0asn €68 EH50d
0&B0S008Q Gerrotiadw)

Question Number : 92 Question Id : 7512365052 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A uniform rod of length 1.8 m suspended by an end 1s made to undergo small oscillations.
Find the length of the simple pendulum having the mass and time period equal to that of
the rod.

1.8 m 23S WS §§ a8 vodHh o0& Berddd vy FoTen BFaSHENoAIT .
BAS* B ($55073 B SoTrSds sTeo ONYS) e STolo EHS B obod.

Options :

3.6m

1.2m
O
24 m q,Q,\

42 m c¢
N

Question Number : 93 Question Id : 7512365053 Q&m Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orieptation : Vertical

A planet of mass m moves aroui¥ the Sun along an elliptical path with a period of revolution

T. During the motion. the planet’s maximum and minimum distance from Sun is R and

a
3

respectively. If T> = aR’. then the magnitude of constant o will be

m |E3g078 Ho @SS SrdogR Hoda &gﬂaﬁa@_‘;wd Srfos” T @Ferdds srood
FORNGHB. & Fodod" Srdgd ol HrSods &oB K0Q Dbk EAY Sroren

R
Sedm Rddoin 7 e T’ = R’ o008 05078 B, H8Srpsn Jeod

Options :
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A

Question Number : 94 Question Id : 7512365054 Question Type : ption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gths in the ratio 5:2. diameters i the ratio
the ratio of increase in length of the copper

=1.1x 10" Nm™, Y,,=0.7 x 10" Nm™

A copper wire and an aluminium wire |
4:3 and forces applied in the ratio 4::

wire to that of alumunium wire. (L%

o*h Hodosoo @wg&o&)oﬁa&: FEYHO Q8 52, Trgro ARG 4:3 Sodo¥x
8D PRrNodS weore G 4.5 wond ord 8 PEJS” NG b
sorgbIcHo 8F PEHS* Do RS EHASS0. (Yo, = 1.1 x 10" Nm™,
Y,,=0.7 x 10" Nm™ = 808 8050)

Options :
176
63
1.
88
i
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110
=

89
4.

Question Number : 95 Question Id : 7512365055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider a water droplet of diameter 0.2 mm where the outside pressure is 1.5 N/cm? at
25 °C. The pressure inside the droplet. when the surface tension at 25 °C is 0.08 N/m. 1s

25 °C 5¢ wrdrghgssn 1.5 Nem® $% °3, 0.2 G508 wé d8 DokEs
S0Kedotod. Soddge® weoo 25 °C 5¢ 0.08 N/m g DoE o), @oa“é@;ﬁé&:eﬁ"c‘b
HBESS00 Dewd &

0.32 N/cm’ é
1. @v’
1.18 N/em? ,\(0

2.

1.82 N/cm?
.

1.66 N/cm’
4.

Question Number : 96 Question Id : 7512365056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A hydrophilic surface 1s characterized by contact angle at the water-solid interface. The
value of contact angle should be

=S ENEE Q) AE-S VETTY GSddvo 5§ o $8)ohs0o odoidE8oa .
GodI0RS NYEPDN IS
Options :

> 90°

< 90°

= 90°
N
Q,\

= 180° )
4 QJ}

Question Number : 97 Question Id : 7512365057 Question Ty 5%: v1CQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Ve

The temperature of a body 1s incr@%m T, =127 °C to T, = 227 °C. The ambient
temperature 1s 27 °C. The energ@e tted per second by the body at T, and T, are E, and

EA

E, respectively. The ratio E, 1S

28 5509 SJES T, =127 °C 08 T, =227 °C & DodTd. $0d0°0 sis 27 °C.
T, 500050 T,0 58 & 59 of DEHS' amssn 308 oo S6dm E, 558050
“

E, 0008 E_l QG

Options :

1.8
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Question Number : 98 Question Id : 7512365058 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two thin metallic spherical shells of radi 20 cm and 30 cm. respectively are placed

with their centres coinciding. A material of thermal conductivity o 1s filled in the
space between the shells. The inner shell is maintained at 300 K and the outer shell at
310 K. If the rate at which heat flows radially through the material is 40 W. find the value
of o (in units of J s m™ K™) :

S8 20 cm Sodcsn 30 cm FrgFrTen o Bod DeoHR AP0 S ShTod T8
Bomen DEFVoHBLY SoDTH. Dok EGYTO B8 &) 0 GHTEESS0 EOAS
éd‘géwﬁ Qodadod. wodd 8o s 300 K §n g 8600 e 310K
wodoty Fhomd. HEgin how Tgvg K OIToDH &b 40 W wand

o de0dd (s m? K gsreros) é&ﬁ&
{)ptij[ms : é
3

2 ¥
&

17
4
3
2.
5
RY/4
3.
T
2
4.

Question Number : 99 Question Id : 7512365059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Pressure at the Earth’s surface 1s p, = 10° Pa and the density of air at Earth’s surface is
Po

5
the value of “/1" 1s (Assume that the temperature is constant through out the earth’s atmosphere
and let /n (2)=0.7)

p,= 1.4 ke/m’. At height ‘s’ from the surface of Earth the density of air is reduced to

Do GH0E00 KN HESS p,= 10° Pa 58050 Frdy GH8SLOEN) MO Fogs
p= 1.4 kg/m’. £r2 &B8800 Do0d I’ QRS DS O Fois % S 8as9d I

oS (Erdp eQTr Tesdn GYHS RO Wirohin Sodosn n(2)=0.7 o
SI0E Ko B5N)

Options :

' 10.500 m ,S)
5.000 m "\/Q

2’ &
1.500 m O

, Q

2.800 m Q,v.
4.

Question Number : 100 Question Id : 7512365060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider an 1deal gas at pressure P. volume V and temperature T. The mean free path for
molecules of the gas 1s L. If the radius of gas molecules. as well as pressure. volume and
temperature of the gas are doubled. then the mean free path will be

B550 P, 508385050 V S0805» ﬁ%@é THeo &‘:‘-‘Cﬁdﬁ} PO PONKeZoWod. T 00
o JorHd “‘foﬁgﬂ';ééo deod L 57odn weodo agrddnd’ i araing D),
HESED, HBHOSTEIN S0 GLHSH BGo) BDSYM T STBE gISEo
DN

Options :
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4
2.
X
8
=
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4.

O

Question Number : 101 Question Id : 7512365061 Question Type : MCQ Op \ﬂiﬂg : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical ?
11

Two identical sinusoidal waves moving in the irection along a stretched string.
interfere with each other. The phase d1ffe1ence?een them is 120°. The amplitudes of
both waves are same. If the amplitude of the 1t wave due to mterference 1s 2 mm. the
amplitude of each wave 1s é

PHERS SoG Do Tok & ‘odﬂgosir%ga’:@m $Somren 8 HIS* PASrBIr wETIS
288 $3888wo BodTrow. & gdorre Py STBEHn 120° HHdckn & Todd
Sormren 28 Sod5H008 EOR Wumon. $388800 S AW HOE SdoNo Bk §oBS
H008 2 mm wond K8 SSofin Bw), SoHS HOWE Dewd

Options :

I mm

2 mm

J3 mm
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'2\/5 mm

Question Number : 102 Question Id : 7512365062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A whistle of frequency 660 Hz moves 1n a circle of radius 1 m at an angular speed of
10 rad/s. The highest frequency heard by a listener at a long distance and at rest with respect
to the center of the circle 1s (Let speed of sound = 340 nv/s)

D dgo 660 Hz 5005 o8 So 10 rad/s o Shoh $88° 1 m TgFGE0) SyEsts
Srgoes® HairdnG)d. JHoor 5 Sosw Hob T ErdosS’d) wl §'8 ISKOR
odhE FIYdgo Dend (A & = 340 n/s m ST HIw)

Options :

700 Hz )\q

640 Hz (32:\
N

&
4. &%

Question Number : 103 Question Id : 7512365063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

720 Hz

Anobject ‘O’ 1s placed at 7 cm to the left of a concave mirror of radius of curvature 12 cm
as shown 1n figure. The position of the image will be at a distance of

5006 SErdS Do 12 cme SEe TgGI0E) LTS SGErds IEHZY T m ©
Er80S® ‘0’ &3 SRPH0T. ehvd H8DowIN T ErESw

Options :
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20 c¢m from the murror to the left

ESyedn ol &3P 20 cm
1

30 cm from the murror to the right
S6ypadn Jood H43Y 30 cm

5,
42 cm from the mirror to the left
cﬁdasa;’:m W0G& JBENIY 42 cm

3,
42 cm from the mirror to the right ,\q
S8yeadn Svod HE3Y 42 cm ‘»Q

4,

Question Number : 104 Question Id : 7512365064 Question QCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Ve

Light consisting of plane waves of aveugth A, =8 X 10~ c¢m and A, =6 X 10~ c¢m
generates an mterference pattern in g’s double slit experiment. If », denotes the nl‘h
dark fringe due to light of wavele@ A, which coincides with ??2th bright fringe due to light

of wavelength A, then &

ool ot HOE BRrHSNS* S8orBEgdn A, =8 x 107 cm So8ako A, =6 x 10~ cm
w0 o o SHode ddomen HONS 5708 S5880m Jrgdtl) &8 B3od. A SGoraE g0
fo 5088 6% ny & DEG BYI 1, SrAdx ©b A, 506BE g0 Ko 5708T A
n,S 5708 HBSE' J8IH08. wdyd

-

Options :

. e
:H—JJ5—1

= 4. = 5
3.
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Question Number : 105 Question Id : 7512365065 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A spherical volume contains a uniformly distributed charge of density 1.0 x 107° C/m’.
Find the electrical field (in N/C) at a point inside the volume at a distance 1 mm from the

=9x10° Nm? C?)

centre. (Let

4 €,

28 Fesd 5305rnsn E68T IS8 mIoDS &PF Qcﬁé 1.0 x 107° C/m> ®a
&HB. ¥ DSB0Ir00s”®, SoEddn Hoé 1 mm &3 o) o8 ©odE Dok I¢

1

4re,

=9x10° NN C 2 &5085%050)

Options : éo
(8

; ¥
& RO

QA Dogs o N/C o (

(67)
@
(127)

Question Number : 106 Question Id : 7512365066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Four identical metal plates are located in air at equal distances ‘d * from each other. The
area of each plate 1s S. If the outer most plates are connected by a conducting wire as shown
in the figure. the capacitance between points A and B will be

TN VOV S5 Jodod LETITES d’ H5rS Sroredt ﬁozﬁa&&;o&:. 08 o8
STogin S HoS® Trdtnr ity ool T 8iS° 8008 Aobdin Baokhye
Dy Y BFIL) Ve

S ‘»Q
d A

1 &
3&S S

= &
- ,{o

= 4 d
2&S
3

Question Number : 107 Question Id : 7512365067 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The resistance of a device component decreases as the current through it increases and 1t 15

. . 021 _ : g
described by the relation R = -2 where I 1s the current. Determine the minimum power

delivered. (Assume I >4)

28 D0ES ©@oFin BwE), AGEIN TS’ PIT0W S Pariro WOASY L SHEbod

021
050 TR Sowolo R=I— ™ ASBoT. RoS' I Dogs BTy Sordobk.

2GS0 G Hogssnso SrSod. (I1>4m rdowmin)

Options :

24W
1
186w Q,S)

Vv

19.8 W Q‘}

3
O
—_— 3

: &

Question Number : 108 Question Id : 751 %uestiun Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Oriencation : Vertical

A 100 W tungsten light bulb has a resistance of 250 Q when it as turned ON and 25 Q when

turned OFF. The ambient room temperature 1s 25 °C. Find the temperature of the filament
when the bulb is turned ON : (Let 0., =4.5 107/ °C)

SoR0AIYE o8 100 W LoABS 5708 28y BwE), A5G0 250 £ odcsn 26 &
sOYSHB TR ATEIN 25 Q £6 BBdTre GARS 25 °C Sod. IOARNE) 2SS
S0y GAES5 ESFBoB®. (0, rs =4.5 x 107/ °C & &3Irhososd)

Options :

2600 °C
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2025 °C

2,
2500 °C
3,
20235
4,

Question Number : 109 Question Id : 7512365069 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two particles carrying equal charges move parallel to each other with speed 150 knv/'s. If

I,

F and F are magnetic and electric forces between two Q&d particles then. =—1s

Q
| v
Let ”OEO - 9}(:016 52/1112 &
[ &

S0 s37en EOAS Dok dooren LT Sdrosor 150 km/s 3&8° g ensbamow.

2

"

,1..51 508050 F, e & Bod e3¢ é@ Sgfio @ad 08 0NN VKBS oW,

iz | I

Options :

1.0 x 107°

15x% 107

3.0 x 107°

25 %10
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Question Number : 110 Question Id : 7512365070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Avery long wire carrying a current 4+/2 A is bent at right angles. The magnitude of magnetic

field (‘BD ata point ‘P’ lying on a line perpendicular to the bent wire at a distance d =20 cm
from the point of bending will be (Let p, = 4m ~ 10~ H/m)

4\/5 AA’JCS.JSE? PITT0 SOAS o8 98 PEII 8HS0 wonfadw @é&@é’“ 0T 0.
S0DE &% eowor &) TP JoSwdd Doy od d =20 cm o Srdod’ &)

Dosoh P’ 5§ Ko sohdyod §E sosrwin (|B|) 2ess (4, =4n x 107 Hm m

EJ08" Ko Sw)

Options :

2
>

\

o=

7

b

1

Question Number : 111 Question Id : 7512365071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Identify the incorrect statement from the following.

Bo8 AATINOS” JOTIE TR T Kogohod.
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Options :

The susceptibility of a diamagnetic material 1s a positive quantity.
$odr AT 08 éc’g é"‘@éé’)é‘)éﬂ a8 O Tl

Paramagnetic materials obey Curie’s law.
FO @00 JTTew Ergd AcHIr) @HIdFow.

Ferromagnetic materials have permanent magnetic domains.

P oI o8 DT TS P B@en §0h dolrow.

3. \q

In soft ferromagnetic material. the magnetizatic‘-@ppear on removal of external

field
g Q) FoRDSYE S “@@‘é%oé SToe ©5dm,0bEdmo

o &yIgSonoD. &)

Question Number : 112 Question Id : 7512365072 &un Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orle rtical

Consider a toroid with 1ectanéu' cross section. of mner radius ‘a’. outer radms ‘5" and
height *A’. carrymg “»” number of turns. Then the self inductance of the toroidal coil when
current ‘I" passing through the toroid is

N B Jopg O/ HY IO EE ©BES, wodd FgFgIn ‘@), @y TgFrgSsw D’
00050 A ‘h’ e EOAS 28 orondd HBKBoHdw. orond wom T Q8ogS
PTET5n BHORHDE orand Bl drobo DEEESH dens

Options :
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Question Number : 113 Question Id : 7512365073 Question Type : M Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

30
A coil is connected to an AC source with 8 V and frequency P Hz . The coil has

resistance of 8 Q. If the average powengishpated by the coil 1s 0.4 W. then the inductance

of the coil 1s : @
& 30
w8 B oG Doy, 8V Sodain I8Nz — HZ Ko AC 228808 eodomdsn

Bahwass. Sihey TGS Deod 8 Q HeS® IIBHPoS So768 Fdogssn 0.4 W
BONSPE SHDLH GodIOVS (WIBSHD

Options :

0.8 H
1.
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Question Number : 114 Question Id : 7512365074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A flashlight of intensity 9 W/cm” illuminates a perfectly reflective surface of area 300 cm”.
The average force exerted on the surface due to the mcident light photons 1s

508 856 9 W/em? $0a5 §e58655m, 300 cn’ Frogins) of edd) STEES Sod)
©5°300T0H. S350 5708 Firsew S0 Senr@oin T80 weo.

o

1 ,\Q
14N q’Q

) A
18 N (3(/

3, é

12 uN @v.

Question Number : 115 Question Id : 7512365075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A parallel beam of monochromatic light of frequency “v' is incident on a surface. The

intensity of the beam is I and area of the surface 1s A. Find the force exerted by the light
beam on the surface if the surface 1s perfectly reflecting and the light beam 1s incident at an
angle of incidence 0. (The speed of light i1s denoted as ‘c”)

v FReYPIgo Ko Dé;’ag QArodd 5708 YPoudw i 00D VBI0 VolWNd. 8I
Dozdw D), B8 I Hdddw doo JITogdn A o8l JonddSo SeorRdn deo
5708 880 Houdn Swod® 'O Feoldn DohwSln IS5 5708 oo EwoiEdin oo

B0TR08. (5708 J&Q ‘¢ & JorNoB2EI8)

Options :
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e
L.
IAcos2@
&
2.
21Acos? @
&
3.
TA cos” @
J2 €
, "D

N

Question Number : 116 Question Id : 7512365076 Question Type : MNptmn Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical :

Monochromatic radiation 1s mcident on h @en sample which 1s i ground state. If the
hydrogen atoms emit radiation of ten diff avelengths after absorbing incident radiation.
then the wavelength of incident radigt 5 (Let hc= 1242 eV-nm)

DESY D82S wa{;m@*@ TERS SHrTP 3850 DosHd. TES
DESre0Y oo SES D8 Q) Fato ToBoHFR $& IHTKH SorBTgen Ko J8L™Q)
2Tgdo TR V83 800 BwE), FGoidEgo Jend : (he= 1242 eV-nnm S8 Hos0)

Options :

84.4 nm

102.6 nm

72.5 nm
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95.1 nm

Question Number : 117 Question Id : 7512365077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two radioactive materials R, and R, have decay constants 6 A and A. respectively. The half
life of R, 1s 1.4 x 10"’ s. Initially they contain some number of nuclei. The time at which
the ratio of the remaining nuclei of R, to that of R, will be ‘e’ 1s : (Let /n 2=0.7)

R, 50805» R,vd Bod DEBr5-0)8 DTTO o088 RorosTey DM 6 A S08a8n A

R, B0of), ef £d85°00 1.4 x 10" 5. Fend @D Fod Sopges® Bodsen §0A & aow.
R,%508050 R, 0" adS Soisre g ‘e’ ehid Htnsredn (In2=0.7mr &8 &808w)

3x10°s
%Q?
5 x10%s A

Question Number : 118 Question Id : 7512365078 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A person applies a sine wave and square wave to an AND gate as shown in figure (1) and (i1).
Assuming that both the voltages are applied in phase. the person observes the output at E
and F on (1) and (11) respectively.

(Assume minimum voltage of 5 V 1s equivalent to logic “17)

HEB0 (1) Hodosw (o TP Do SGoridn ok JHIER oo o S8
©0IB0IBVTW. Bod Some PBICHS &8 GFS’ DTN TAoNS e Sg§
E 50000 Fo 38 6500008 TEYEen Jenden (1) Sodcko (1) oS* SHdm

(5 Vo 633 STED 85,50 ‘1' 8 SEHImS50585:50)

Sine wave. SO Hz. 2V Sine wave. 100 Hz. 8 V
e dGofo. 50 Hz. 2V ™o ddoffo, 100 Hz, 8V
A
@) >—E (if) ’\5 >—¢~
B Q D
Square wave, 107 Hz. 6 V Square wave. 100 Hz. 6 V
S ddofo, 107 Hz, 6 V & S Sdofio. 100 Hz. 6V

Options : o
Square wave at 50 Hz and squar \& 100 Hz

50 Hz 58 w$5&08( 86otio 3536066 100 Hzo 5¢ S8 Soifa

&
Sine wave at 50 Hz and square wave at 100 Hz
50 Hz 3& R g8ofio $odcsw 100 Hz © 3¢ S&080 d8oiio

No output and sine wave at 100 Hz

T EHE Boom H0dos» 100 Hz 53¢ e d8oifo

No output and pulsed wave at 100 Hz
LT EYE ooz Hodoin 100 HZ 58 9yods ddoiio

1 E
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Question Number : 119 Question Id : 7512365079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider an amplifier circuit in which a transistor 1s used in common-emitter mode. The
load resistance 1s 3 k€. When a signal of 30 mV 1s added to the base-emitter voltage. the
base current 1s changed by 30 uA and the collector current is changed by 3 mA. The power
gain 1n this circuit will be

CE D8 5065° érddenodd Erypb Sookh $§5Q) H0fsbossn. BIS* &8 9E'E50
3kQ BR-dLS S'ges 30 mV o d08er)) eddomr 008, B g PITTdnd
30 HA 308050 E8E0 dogsd (BT SNng” 3 MA I030. & JS008008° Seod
>ogs 93

Options :

10000

)\b
20000 qu

2

B

30000 ()%'&
40000 é

Question Number : 120 Question Id : 751236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A message signal 1s used to modulate a carrier signal of frequency 5 MHz and peak voltage
0f 40 V. In the process. two sidebands are produced seperated by 40 KHz. If the modulation
index is 0.75. then the peak voltage and frequency of the message signal respectively are:

5 MHz &3:93g50 $080i0 40 V o 398 FBIcHS KOAS &8 Soser) Sordrg8a
DT RS 28 H0BE 08 Q) GHAFN0T . & HES” 40 KHz ddos® ot F&)rheien
QA EEow. SrdogBas Bl 0.75 wond J08¥ SoBdo @), Y TPE bk
DSSsE0es Sdm

Options :

60V : 10KHz
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60V : 20KHz

2.
30V: 10KHz
3
30V : 20KHz
4.
Display Number Panel: Yes
Group All Questions: No

O

Question Number : 121 Question Id : 7512365081 Question Type : MCQ Opti ing : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical 6

- The speed of the electron (in ms™) in the thirdsbit of hydrogen atom is approximately

(Mass of electron = 9.1 » 107" kg) 0

IR D
oo

E3rea0) B0 555@*3?.@5 3o (ms™ o) Hdedom
PoES S0y, edo =9.1 x 107NE)

Options : &

3.6 x 10°
1.

2.18 x 10°
2.

7.26 x 10°
3.

2.18 x 10°
g,

Question Number : 122 Question Id : 7512365082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
India’s largest Student Review Platform
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The ratio of the radius of second orbit of Li*™ to that of third orbit of Be*™ is

Li*" G, Bods §85 o000 Be'" gy, Sords 885 e %8

Options :
2
3
:
8
9
2.

27 \q
i Q
8 W
= &
27 O
4. é
Question Number : 123 Question Id : 7512365083 %n Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orie%‘ma s Vertical

Assertion (A) : While going&% cft to right of the periodic table. the atomic size decreases
more rapidly for the 34 series compared to the 4f'series of elements.

Reason (R):  3d electrons experience lesser shielding than 4f electrons

Fgpg (A) e3ES HPES® g Hod SdIYPE IS Fob, 4f FS Srose Eob
3d @B Sorosto HESrmn Raren S oo Sherow.

sdwo (R): 4fdogieo 508 3d Joglw S50 8§35 @eraQ) doderon.

The correct answer is
HOGS BEFTHBD

Options :
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Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(A) 508050 (R) o0 S80S0 oBddw (A) Gog), S80S 58 (R).

Both (A) and (R) are correct. but (R) 1s not the correct explanation of (A)
(A) 508050 (R) oo S0508D 570 (A) GBoog), D0G0S Jdde (R) 576,

(A) 1s correct but (R) 1s not correct
(A) SBGI& 570 (R) S0DI&E sk,

(A) 1s not correct but (R) 1s correct Q’\

(A) 5683058 5% 9 (R) 505058, Vv

4. %‘ '\

Question Number : 124 Question Id : 7512365084 Questit:*g(j(} Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Ve

Which one among the following s ents 1s/are not correct?

a) Bacompounds. generally 'e%e covalent than Be compounds
b)  The electron gain entw He is positive

¢)  The oxidation state of O in OF, and Na,O are same

d) The radius of Na" ion is smaller than that of F~ ion

E0d DIGoS® IB/AD DOGSD 57?7

a) &Fdwor Bedd@To 08 Badd @ o8 Sdodradaion totrow.
b) He 3w§), JJE.JESS TSy Q0570 ST E)ES®.

¢) OF,%0805» Na,0 o&* O Bwf), s§)idn 98 ddrJo.

d F oo5rS 808 Na'wosrs oogdrdo 8893,

Options :
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acd

1.
b
2
b.c.d
3.
L
4.

Question Number : 125 Question Id : 7512365085 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Which of the following have linear structure?

O
N
"\/b

8od FES* D THoh oY) $Oh o ?

a) SnClz ) B¢k, c)c) SO,
4+

d NO, ) CZI-L:V'

Options :

a.b.d &(o

1.
b.d.e
2
b.c.d
3.
g0 e
4.

Question Number : 126 Question Id : 7512365086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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- Match the following / |§o& & 280805 S%.

List-1/ede -1 List -1/ erder- 11
(Molecular geometry) / (ee0 e8)8) (Molecule) / (ee005)
A)  Trigonal planar L PCL
88’ JJdo
B) Tetrahedral ) SF
rﬁéadaé@oéoo

BF'Bo% Bdrargsdo

C) Trigonal bipyramidal g\oﬂg
&‘b
D) Octahedral & V) CcCl,

Q/v' V) BeCl,
&2

The correct answer is
é&g})a’) SIS AR NS

Options :
A B £ D
i N 3 m I
A B € B
. ¥ B I W
A B € D
B Y 3 \Y

1 E
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A B £ P

, I IV I I

Question Number : 127 Question Id : 7512365087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following 1s/are correct for Boyle’s law?

oS oNGrIE §o8d TES® B/ HBRBSH/HOFR0HD?

T,>T,>T; ‘A I,<T,<T,
NG N\
a) P T b) P T,
T, q Ty
— = >
1/d ' & v

—

c) PV T, é d pv T,
T, T

P . P

&

d
L.

b.d
Z

a.d
=

b.c
4.

Question Number : 128 Question Id : 7512365088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
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The compressibility factor (Z) of a gas at critical state 1s

360’;’3655 Koe980 (Z) Jod?

8a a
= s Bo= ¥ :3b)
[‘ 2mb ¢ It ”f
Options :
8
3

4.
Question Number : 129 Question Id : 7512&9 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
The number of moles of H, which 1s required to produce 10 moles of NH, in the following

reaction 1s
aH,(g)+bNO,(g)——cNH;(g)+dH,0(g)

& §0b $63S" 10 IS NH, & &$)8 Soinbd sdodd H, Irdo Sopg

‘a H,(s)+bNO,(s°)——cNH;(5) + dH,0(a)

Options :

10
1.
collegedunia
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2,
33
3,
53
4,

Question Number : 130 Question Id : 7512365090 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following.
List-1 List-1I

A)  TiCl,())+2Mg(s)—2—Ti(s)+ 2MgCl,(s) D isproportionation reaction

N
U

C) LC(5)+OE(g)—a—>C02(g) « I) Decomposition reaction

B) '2H ,0,(ag)——2H,0(1)+0,(g) Metal displacement reaction

D) 2NaH(s)—>—2Na(s)+H,(g) ()% IV) Combination reaction

808 TEQ 2SHEHB®. :v'

e -1 e - 11

A) IT1C14(@5)+‘?Mg(w)AaTl(q.vHZMgle,(q.u) ) elHh>d S8

B) 2H,0,(we)——2H,0(&) +0, (o) ) &% PSEhod S6g
C) C(0)+0,(o")—2->CO, (o) M) 238> 588
D)  2NaH(s0)—A3—2Na(s0) + H, (o) IV) Sofes 6

The correct answer 15
DOGS Jdrerddn
Options :

g B € D
. oI I NV I
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XA B € B
s I X I %
A B @ D
., I 1 m WV
A B C D
« N I X 3

Question Number : 131 Question Id : 7512365091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the standard enthalpy of reaction (in kJ) when two moles of Fe O, (s) reacts with
H, gas to give Fe metal?

(AH® of Fe,0,(s) and H,0(/) are —824.2 and —285.83 k,J?sl" respectively)
So IS Fe,04(5). H, 37ad0dh&” S6gT70b Fe @l L‘Jdﬂj&i)?ﬁ @370 IEg 0Ty
(kJ &%) Joe? &

(Fe,0,() S0doin H,O(g) © AH” S‘Jwa’)&ﬁéw —824.2 $:8a50 —285.83 kJ mol™)

" S
| 9

2

-538.37
o

~1110.03
3

Question Number : 132 Question Id : 7512365092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In which of the following plots. an endothermic reaction is correctly represented?

8ol [TROS® I8 GIITTE S SrQR0H?

Options :
n K,
T
:
In K,

~ A
InK, Q,
" é()

\,

N

/T

Question Number : 133 Question Id : 7512365093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the order of relative basis strength of o 10;5.Cl105.ClO; ?

Cl0;.ClO;.ClO; o6 58 56 no Ehdn D6?

Options :
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€103 > ClO; > ClO;

1.
ClO; > ClO; > ClO;
2.
Clo; > Clo; > ClOo;
o &
€105 > Cl0; > ClO;
4

Question Number : 134 Question Id : 7512365094 Question Type : MCQ Option %g : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical :

How many water molecules present in CuSO,- SH ®are hydrogen bonded?

&

CuSO,-5H,0 &° Q) A& wenIen e 2oTes’ eolrran?

Options :

: &
1, &%

|
2.

4
3.

2
4.

Question Number : 135 Question Id : 7512365095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which gas/gases evolve(s) when sodium metal is reacted with water at room temperature?

FBHo S'Fo K0 SIS 3§ VBE SETodEHGK o TakwP/TaboPen
B/ AD?

Options :

Oxygen only
sfus Srgdh

Hydrogen only
TERS SgR

2.

_ N
Sodium vapour and Hydrogen QIQ
F&a%0 Ry Sdakn TE'RS A

5 @
Hydrogen and Water vapour éc’
TIE'Re 0005n & K

, T W&;«?

Question Number : 136 Question Id : 7512365096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A and B are formed when borax is dissolved in water. C and B are formed when borax 1s
reacted with aqueous HC1 solution. What are A and C respectively?

SoBd BS® EohoDSYd A Sodcin B en 8 y@row. Sofd 2o HCl @rdeos’
SEsrD00S% C $:0ck0 B e Ddymon. A 50800 C oo S68m D272

Options :

NaCl, NaOH
i

NaOH. Na(l
2.
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NaBO,.NaCl
o

NaOH. NaBO,

Question Number : 137 Question Id : 7512365097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many nearest neighbours are there for Si and O atoms in quartz crystals?

558 H)%os® Si Ho0asw O HSHrmPOs IR BDB HBHE HESreHOO

(nearest neighbours) ¢ oiron?

Options :
4(S1):2(0) ’\q

. 4(Si):4(0) <(/
&

2 (Si):2(0) é
Q,V
3(Si):2(0) (o
A

1

2

Question Number : 138 Question Id : 7512365098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following.
S0d T 2SEBEWB®.

List-1/28e -1 List-II /e -10I

A) Bleaching of paper ) CECL

5O 50 é’)a‘igo

B) Eye Imritant ) H0,
£08 HEHES

C) Freons II) N :

(@5 "\/Q
D) Herbicide Qy) PAN
O

food IoHo TFESD @

The correct answer 1S &

SITos SR ERS IS AN VY

Options :
A B € D
, I ¥ B B
A B € D
s N & 3 M
A B € D
i N 1 1

1 E
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Question Number : 139 Question Id : 7512365099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following method is adopted to obtain gasoline from crude oil?

Bod TES* ) HE8 o SudHndd Hod MEROIH PoLess?

o
Options :
Vacuum distillation

QTS ‘?oﬂscﬁzéo
1

D
Steam distillation q,Q

2R ";::565250
2

&
Adsorption on animal charcoal @0

, 20 THD 05T E05

Fractional distillation '@

FEE ©0IE ES0
4

Question Number : 140 Question Id : 7512365100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements is correct in the Kolbe’s electrolysis?

5'8) DogBr3Resd Howosod) §od JHBeSt SOIE I8?
Options :

Hydrocarbons containing even number of carbon atoms produced at anode

DTE $G B0 Jopg TYHS JESrenHen Ko TETGRen JSderow
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Hydrocarbons containing odd number of carbon atoms produced at anode
ATE $F T Jopg YR DdSrwHen Ho TE TGS dGyEe 0w

Hydrocarbons containing even number of carbon atoms produced at cathode
56 3¢ 90 Dopg THS IESrewhon Ko TE TGS JSEETon
3.

Hydrocarbons containing odd number of carbon atoms produced at cathode
586 3¢ B DJopg Y HSrewHen Ko TE TGS JdyEEow

Question Number : 141 Question Id : 7512365101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical q

The correct order of rates of C—Br bond ionizati gthe following bromides 1s

A

Bo8 aS0ds ke C-Br w08 Qoﬂe) Bloe HBGDS (BB

r
A O

(a) (b) ()

Options :

a>b>c

b>c>a

a>c>b

b>a>c¢
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Question Number : 142 Question Id : 7512365102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If an element having atomic number 96 crystallises i cubic lattice with a density of
10.3 g cm™ and the edge length of 314 pm then the structure of solid is

H8Sre (B55078 96 Ko uf Swreodsn DS Tofes’ HBsEEwo Fos, 103 g om™
PO, 314 pm wo &Y &F) DIHTY JoyREn 82

Options :

HCP

FL

BCC

Simple cubic

o WJ0 (?
N

4.

Question Number : 143 Question Id : 7512365103 @n Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation .7 ertical

The vapour pressure of pure&4 Molar mass = 154 g mol™) and SnCl, (Molar mass =
170 g mol™) at 25 °C are 115.0 and 238.0 Torr respectively. Assuming ideal behavior.
calculate the total approximate vapour pressure in Torr of a solution containing 10 g of
CCl, and 15 gof SnCl,.

25 °C 5§ ¢ CCl, Brer6 $550°8 = 154 g mol™) So6aso SnCl, Grers 55079 =
170 gmol™) & raywdaren S6dm 115.0 5o 238.0 Torr. esdd) 3¢S @ o8,
10 g o CCl, 508050 15 go SnCl, en Ko @H0l rdywdso (Torr o) Soderdormr:

Options :

185.85
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190.0

2,
180.7
3.
182.1
4,

Question Number : 144 Question Id : 7512365104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A camphor sample melts at 176 °C. K ’ for camphor is 40 K kg mol™. A solution of0.02 g
of a hydrocarbon in 0.8 g of camphor melts at 156.77 °C. The hydrocarbon 1s made up of
92.3% of carbon. What is the molecular formula of the hydrocarbon?

o8 E&mE SHora 176 °C 3§ B850 Boka. o K, e 40 K kg mol™.
0.02 go o8 @56 0.8 go SdmySos” 0% GBS @ Ieadw 156.77 °C 5§
BDSSS0 Dot TETGHIS 923% SAHIMGE. TETES vmriye 26?2

Options :
K\
v.
Eiath Q’

Question Number : 145 Question Id : 7512365105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia

—



If “A’i1s the reactant and “P’ s the product which one of the following is the correct form of

Nemst’s equation?

A oHSH Boirasssn Sodohn Peofdd Boiradgo @ond §od T8S* 6 S0GS
IO D88 Ha0?

Options :

[A]

P "“P[ WF B ED))

Question Number : 146 Question Id : 7512365106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The first order dec01np051t1011 of H,O, in an appropriate medium is characterized by a rate
constant of 0.2303 min~". What is the time (in min) required to complete 9/10 fraction of

the reaction?

28 ©H3S Hrifod® Boose Eires H,0, d@r2ad8 B Jorossn 0.2303 min™.
%85 9/10 rfo g 5758 Hipstoo (M os°) Jod?

Options :

0.1

1
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10

100

0.01

Question Number : 147 Question Id : 7512365107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements 1s/are not correct?

A)

B)
C)

D)

Sob
A)

B)
C)

D)

Options

Adsorption 1s accompanied by decrease in enthalpy as well as decrease in entropy of
the system.

Gases which can react strongly with adsorbent show ghemisorption.

When the value of the slope of the Freundlich 1 1S non-zero. adsorption 1s
independent of pressure. ‘],

Gold number of potato starch 1s 0.15. £
e FTRH0 BOAIYHH, TS DY AoT Oy SiH&0h HOn oS
SHE008.

o FIESNS' weoor é&n THENHW SFoHS T RINS HEG 0w,
e W) 5780l &HBB, vIYH VHT Jdw

DSOS’ B/AJ JBID 5°Y?

o0&l 30y T
28508 Jedogol eotod.
2OMEEB00D 3;;5& ﬁ‘§ Sopg 0.15.

AD

B.

@

A C
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Question Number : 148 Question Id : 7512365108 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following is used to produce Al by electrolysis?

B8 T8S* BAY SIErNoN WS I8 TT BOrgLAcoH G&8 Takdiiy?

Options :

Molten Al,0, + Na,AlF, electrolyte. carbon coated steel vessel cathode, Graphite
anode.

Ko Al,0, + Na,AlF, JOEBY, YIS FS E@%m FE &8, T8
s8I Q
1. «‘»

AL,O, +PbF, electrolyte. steel cathod¢”GMphite anode.
AL O, +PbF, QOEBE, 96 96@35 338

Molten 'Al?_03 + Na 3Alli;&eectrolyte. Graphite cathode. Steel anode.
fod Al O;+ Na,Alfg o8BS, et 588, {5 o6

2.

Al,O,+ H,O electrolyte. Graphite cathode. steel anode
ALO;+ H,0 do88, s 568, 36 o6

Question Number : 149 Question Id : 7512365109 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statement (A) : Among the oxides of nitrogen. NO and NO, are paramagnetic.
Statement (B) : NO 1s paramagnetic in the gaseous state and diamagnetic in liquud state.

D58 (A) : IE'ee &880 NO Soddin NO, e doroham oscen.

)
Q58=e (B) : TS0 RES” NO S0°050d7, 0850 8050 |SIRBS” B w08 dw.

The correct answer is
éag_asé DTG 20

Options :
(A) 1s correct, (B) 1s not correct

(A) 505088, (B) 9863058 5760

Both (A) and (B) are not correct q,

(A) 508050 (B) o0 $8G05D 5. Q’:\
O

2
(A) 1s not correct. (B) 1s correct é
(A) 505058 5°¢, (B) Sog ?’

) 9
Both (A) and (B) are correct
(A) S08050 (B) ev $883089.
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Question Number : 150 Question Id : 7512365110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The products formed during the reaction of Carbon with Conc. H,SO, are

C+H,S0, —— products

sied’ mé H,S0, $85T08859% 88 Sasraargen

C+H,S0, —— osraagen

Options :
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CO.S0,.H,0

1:
C0,.S0,.H,0
2.
CO.C0,.H,0
5,
SO,.H,0
4.

Question Number : 151 Question Id : 7512365111 Question Type : MCQ Option S ing : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many protons will be consumed when dichron@n oxidises Fe*" ions in aqueous

acidic medium? &
s 20 HSrSEos® BE'IE vosrs Fe'' o 3o 68880 MIoDSYE I DérSen
DABr KBS0 H & 000?

" &
K

6
2.
10
3,
14
4,

Question Number : 152 Question Id : 7512365112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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- Which one of the following 1s tris (ethane-1. 2-diammine) cobalt (III) sulphate?

Bod T8S* A& WS ($33-1. 2Bwabl) S (1) 5695‘?

Options :

.[CO(E‘H)Z]Z (804)3
[Co(en)z SO, |

[co(en), ]s0,

Question Number : 153 Question Id : 75123651 (&m Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orie : Vertical

Which of the following polyﬁé?is formed due to the copolymerisation of 1. 3-butadiene
and phenylethene?

1. 3-'&1?5@@&5 3080350 fb@eséeéﬁe.: B >O0b8800 53'30' 23633 FOE 62

Options :

Buna-N
20088 -N
1.

Neoprene
QDB
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Novolac
. NS AL

Buna-S

2:.05?6-5

Question Number : 154 Question Id : 7512365114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the reagent that oxidises glucose into saccharic acid?

Kr8'&d 5708 wdom w8 Edomo Addn SIS § o&?

Options : ‘»Q

Br,. H,0

1 . c)q/

2. Q,v.
) HNO,.H,0 &(o

Question Number : 155 Question Id : 7512365115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one among the following 1s an antioxidant?
§od T8S® dirodessiEds 87
Options :
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1.
CH, O CH,
H,C :
H,C 2e
CH3
£
5255 N/ H
A
Ak R
f Q
: ‘v

Question Number : 156 Question Id : 7512365116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Find the reactants which on heating with alcoholic KOH produces the compound
CH,—CH,—CH,—CH~=CH,,

se),5*0§ KOH & 38 Bcorr, CH, — CH, — CH, - CH=CH, 33585508 d8y&sH
Bosrassos ErSos?

i) CH;- CH-CH,-CH,-CH,
Br
ii) CH,-CH,- CH -CH,-CH,
B

iti) CH;-CH,-CH,- CH-CH,Br O
' N
Br Q
iv) CH,-CH,-CH,-CH, - sz é}%
Br 0

Options : é
1. 1V q v |

2
5 ’\t
2.
i B
3.
T
4.

Question Number : 157 Question Id : 7512365117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The major product (P) formed in the below reaction is

o8 $Ege® AGE PSS wEKSw (P)

CH,

(i) Hg(OAc), /H,O-THF . PO

=]
(1) NaBH, .OH

Options :

-

OH Q/v.

" &
C[/\OAC

Question Number : 158 Question Id : 7512365118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify X. Y and Z respectively from the following reactions

B0 WGgod” X, Y H0a5n Z ol SHIm #K0505)hw

b 4 - e
> Schiff’s base
1) Passed through red hot iron tube nD B
O™ 5708 Al Lo &7l o)L
5 2 54 > X
= Y CEHCL Anhyd.AlCls 'CuCl ;
agﬂ HNO3H’H;SO4 y Z
273 K

Options :

oot g™

Qno,
<V
&
CHO NH@ COH
g Jdgy - U

) &@ NO

R oy Qmﬁ

NO,

@/CHO NHNH, /@,Cﬁo
e i .

> O

2

1 E
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Question Number : 159 Question Id : 7512365119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the structure of Z m the following reaction sequence

. - : ' Strong
Phthalic acid+ NH; 2 X Y —omme 2

§08 FTrgE00S” Z AT ypadnds foiod

w8 (S
708 sio+NH; 2 X—25Y e
Options :
g
1

e S
I, &
3 ) &%

Question Number : 160 Question Id : 7512365120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The major products P and Q formed in the following reactions of benzonitrile are

BoEZBS Boog), 808 FIgoS” AT P G PHodcin Q

.Pj Na/EtOH O/ CN (1) HCI (cone.)(ng). cold (Sod)

Options :

(ii) Br,.KOH. A

Q
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